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(1) &4
AR S PN w| # £t gk 2 w| # &
I R L R T I L R
&t 31,035 1,030,655 RIFE 542 1,343 33,160
NR 25 1,215 IR 1 30
(FFR) 9 675 (FFR) 0 0
(RAEY) 3 150 (KA 0 0
(H3m) 13 390 (i) 1 30
(/MR 0 0 (/) 0 0
rowy 16,638 830,240 rowH 618 27,600
(FFR) 6,313 441,910 (F5K) 54 3,780
CREY) 6,604 330,200 (KA 399 19,950
(-5) 1,046 31,380 38 ) 111 3,330
(V) 2,675 26,750 (/NF) 54 540
ZHE 13,411 112,705 EH 704 5,325
(3 - /N 9,130 91,300 W3 - /N 361 3,610
(D i) 4,281 21,405 (22 D0 i) 343 1,715
ZFDfth 961 86,495 ZF Dtk 20 205
(&~797) 183 915 (#Eh7v7) 19 95
(b9 =T 778 85,580 (M797 e M—7— 1 110
RIFR BR 13,749 474,740 RiFR Ea 5,797 216,725
INR 1 660 AR 0 0
(FFR) 6 450 (F5K) 0 0
(CRAEY) 3 150 (KA 0 0
(H5) 2 60 (i) 0 0
(/NRY) 0 0 (/1) 0 0
rovo 7,722 359,080 rSvo 3,646 189,820
(FFR) 2,073 145,110 (F5K) 1,387 97,090
(R 3,803 190,150 (KA 1,668 83,400
(-58) 268 8,040 (Him) 171 5,130
(Vi) 1,578 15,780 (/N1 420 4,200
EHE 5,349 48,350 EH 2,065 18,600
(38 - /M) 4,321 43,210 M - ]V 1,655 16,550
(D i) 1,028 5,140 (22 0 i) 410 2,050
ZFDfth 667 66,650 Z Dtk 86 8,305
(#797) 64 320 (#&h797) 11 55
(F797 + b= 603 66,330 (M7 bb—7— 75 8,250
RigR B/ 5E 8,103 261,150 RigR FAB 42 1,020
NX 12 495 IR 0 0
(FFR) 3 225 (F5K) 0 0
() 0 0 (KAL) 0 0
(5) 9 270 (Him) 0 0
(/N 0 0 (/N 0 0
rovy 3,903 221,550 rowo 33 930
(5 R) 2,613 182,910 (FFR) 0 0
(R7Y) 498 24,900 (RA) 15 750
() 291 8,730 (Him) 0 0
(/1N 501 5,010 (/NEY) 18 180
EHE 4,035 31,095 EH=E 9 20
(38 + /M) 2,184 21,840 (7388 - /L) 9 90
(1B DU i 1,851 9,255 (e DU i) 0 0
ZFDfth 153 8,010 Z Dtk 0 0
(#&b797) 84 420 (#&h797) 0 0
(F797 + b= 69 7,590 (N ) - b—F— 0 0
RIFR =BT 2,001 43,860
N 1 30
(FFR) 0 0
(RAD) 0 0
() 1 30
(/1NA) 0 0
rovY 716 31,260
(RFR) 186 13,020
(RAEY) 221 11,050
(H3) 205 6,150
(N 104 1,040
RHE 1,249 9,245
(3 - /M) 600 6,000
(& DU i) 649 3,245
D 35 3,325
(#&1797) 5 25
(b9 7 b= 30 3,300

- 165 —




(2) BA

i P& 2 w| M H o P 2 | R
A I A B L. % S I I L IR S
# &t 28,047 1,031,010 EilFR L 1,979 88,165
AV 3 32 1,560 R 2 60
(FFK) 12 900 (F5K) 0 0
(RAY) 3 150 (RAY) 0 0
(-58) 17 510 (i) 2 60
(/N 0 0 (/N 0 0
rovo 16,603 861,650 rSvy 1,395 83,090
(FFR) 6,459 452,130 (R ) 864 60,480
(RAY) 7,141 357,050 (KA 391 19,550
(-3e8) 1,122 33,660 (i) 83 2,490
(/N 1,881 18,810 (/)N 57 570
10,542 88,480 573 4,550
3 - /N 7,154 71,540 RLSTiRMANiTY) 337 3,370
(# 0 fi) 3,388 16,940 (420 i) 236 1,180
Z0fth 870 79,320 Tt 9 465
(#&1797) 156 780 (#&1797) 5 25
(b7 =7 714 78,540 (b7 - b= 4 440
RiFE =35 12,645 456,875 RIHE j=$7] 5,331 184,120
AV 4 13 725 IR 5 305
(FFK) 7 525 (R R) 3 225
(KA 1 50 (KA 1 50
(-5) 5 150 3 ) 1 30
(/IR 0 0 (/N5 0 0
rovy 7,611 353,590 rovo 3,002 160,080
(FFR) 1,520 106,400 (F5K) 1,160 81,200
(R 4,518 225,900 (KAL) 1,427 71,350
() 278 8,340 (i) 169 5,070
(7N 1,295 12,950 (7]VRD) 246 2,460
ERE 4,378 39,180 RHE 2,259 18,790
(i - /M) 3,458 34,580 (3 - /)N ) 1,499 14,990
(A28 DU Wiy ) 920 4,600 (2% DU Wiy ) 760 3,800
ZF Dt 643 63,380 Z 0tk 65 4,945
(#EbT97) 70 350 (#&1797) 21 105
(b9 - N—7 573 63,030 (M9« N—7 44 4,840
RIGR |/ E 6,728 267,325 RIBR FAE 15 710
AV 3 11 440 IR 0 0
(FFR) 2 150 (F5K) 0 0
(K1) 1 50 (K1) 0 0
(-5m) 8 240 58 ) 0 0
(/N 0 0 (/NRY) 0 0
rowy 4018 239,380 rowo 14 700
(FFR) 2,753 192,710 (R R) 0 0
(KA 617 30,850 (KA 14 700
(-5) 467 14,010 i) 0 0
(/VED) 181 1,810 (/)N 0 0
ERE 2,576 20,275 EHE 1 10
(3 - /M) 1,479 14,790 (it - /M) 1 10
(00 i) 1,097 5,485 (500 i) 0 0
Z0fth 123 7,230 it 0 0
(#&1797) 60 300 (#EhT97) 0 0
(b9« b—7 63 6,930 (N7« =5 0 0
RIFR &L 1,349 33,815
AV 4 1 30
(F5K) 0 0
(RAY) 0 0
(-5) 1 30
(/1NR1) 0 0
rovy 563 24,810
(FFR) 162 11,340
(oRAY) 174 8,700
(-5) 125 3,750
(/1Vi) 102 1,020
ER=E 755 5675
(3 - /) 380 3,800
(428 DU i) 375 1,875
ZF Dt 30 3,300
(&h797) 0 0
(b v« N—7 30 3,300
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